BUSINESS STUDIES 565/2 MARKING SCHEME

[image: image1.emf]MARKING SCHEME LAINAKU BUSINESS PAPER TWO 2013   1(a). Discuss the factors that may influence the growth of a business unit. (10 mrks )   - availability of capital, if available growth is enhanced.   - extent of demand/market   - good and adequate infrastructure.   - efficient technology.   - absence of competition enhances growth   - access to raw materials   - Govement policy   - availability of source of power   - presence of adequate water supply    - efficient management   - objective of the owner they sometimes desire a small firm f or various reasons and this inhibits  growth.   (b) Outline the differences between a private limited company and a public corporation. (10 mrks )   Public corporation             private limited company   - formed by an act of parliament.       - Under registrar of companies   - initially financed by the government       - financed by shareholders   - B.O.D by government           - directors nominated by shareholders.   - political influence eminent         - no political influence   - losses subsidized by govt.         - losses may led to winding up   - profits  go to the govt.           - profits go to the shareholders.   - performs specific functions         - performs various functions.   2)(a)Explain five characteristics of labour as a factor of production.                  (10mks)            - It is a basic factor of production             - It cannot be stored if a labourer is idle his/her effort is wasted i.e labour is perishable  


· Labour cannot be stored if a labourer is idle his/her effort is wasted ie. Is perishable.

· Labour can not be separated from the labourer. That is the Labourer must be present to deliver services.

· Labourer sells their labour and not themselves.

· If it is human wish ability to think and capacity to get annoyed.

· Labour is mobile, that is labour can move from place to place (geographical mobility or from one place to another) ocuupitional mobility.

b) Explain five advantages of pipeline as a mode of transporting oil products.

         -Its environmently friendly

         -Operating costs are low

         -It is a fast mode because there is no congestion, not affected by weather

         -It is less prone to accident

         -It reduces the number of tankers on the roads and thus minimizing damage  on the roads 

         -Its relatively secure mode of transport in relation to thefts

         -Large volume of oils can be transport within a given time.

         -Low maintenance cost

3. A) A surgeon set up a clinic in a distant rural centre. The business was closed after six months.  

            Identify four possible causes for the failure


- Inadequate capital

· Poor working strategies

· Unfavorable government policies

· Insecurity in the area

· Inadequate academic and technical knowledge

· Inadequate business management knowledge

· Inadequate demand market

· Poor record keeping

· Poor customer relations

· Large drawings from firm

· Lack of self discipline and poor moral character

· Poor planning

· Changes in technology

· Changes in business environment
b. 
Write the following information in the appropriate books of original entry and post the 

transactions to the ledger accounts.





(10mks)


2010


April 1: Received an invoice from KK suppliers for sh 40,000, Onchoke traders sh8000.


April 2: Received a credit note from K.K suppliers sh 1000, Onchoke traders sh 1500.


April 3: Issued invoice to Onyango traders worth sh 50,000, Moturi traders sh 30,000.


April 4: Issued credit note to Moturi traders sh. 3000.


April 5: Received an invoice from Omari enterprise sh 36,000,KK suppliers sh 15,000.

Ans

PURCHASES JOURNAL

	Date
	Details
	Invoice No.
	LF
	Amount

	2010

1 – 4

1 – 4

5 – 4

5 - 4
	K.K suppliers

Onchoke

Omari

K.K suppliers


	Total taken to 
	PL1
PL2
PL3
PL1
purchase a/c


	
40,000(
8,000(
36,000(
15,000(
99,000




PURCHASES RETURNS JOURNAL

	Date
	Details
	Invoice No.
	LF
	Amount

	2010

2 – 4

2 – 4


	K.K suppliers

Onchoke


	Total taken to


	PL1
PL2
Purchases Return a/c


	1,000(
1,500(
2,500(





SALES JOURNAL
	Date
	Details
	Invoice No.
	LF
	Amount

	2010

3 – 4
3 - 4

	Onyango

Moturi


	Total taken to


	SL1
SL2
Sales A/C
	50,000(
30,000(
80,000(





SALES RETURNS JOURNAL

	Date
	Details
	Invoice No.
	LF
	Amount

	2010

4 – 4

	Moturi


	Total taken to


	SRL1
Sales returns A/C
	3,000(
3,000(



	Dr
	Purchases A/C                                   cr

	Total creditors 99,000
	


	Dr                            K.K
	Suppliers  A/C                 Cr

	Purchases returns 1000(
	Purchases 55,000(


	Dr    
	Onchoke  A/C             Cr

	Purchases returns 1500(
	Purchases       8,000(


	Dr    
	Omari A/C               Cr

	
	Purchases      36,000(


	Dr       Purchases 
	Returns A/C               Cr

	
	Total creditors    2,500(


	Dr       SALES
	A/C                                  Cr

	
	Total deptors    80,000(


	Dr      ONYANGO
	A/C                                  Cr

	Sales 50,000(
	


	Dr      MOTURI
	A/C                                  Cr

	Sales 30,000(
	


	Dr      Sales    Returns
	A/C                                  Cr

	Total debtors 3,000(
	



      
(20x ½ =10mks)



Invoice and credit note columns correct and amount column.

 4a. (a)
Draw five differences between perfect competition and monopolistic competition
(10mks)

(a)


	Monopolistic
	Perfect compentition

	(i) Firms produce / cell similar but differentiated products.

(ii) Have their own price and out put policy 

(iii) Faced with normal demand curve

(iv) Spend a lot of money in advertising

(v) Firms operate at excess capacity
	(i) Firms produce / cell homogeneous products

(ii) They are price takers & output adjustors

(iii) Perfectly elastic demand curve

(iv) Firms do incur cost of advertising 

(v) No excess capacity










(Matching differences Any 5x2=10mks)

b. The following information was extracted from the books of Wanyama traders as at 31st 

December 2011.

	Bank loan

Capital

Bank loan interest

Closing stock

Creditors

Debtors

Discount allowed

Electricity

Furniture repairs

Gross profit

Maintenance costs

Motor vehicles

Motor running expenses

Premises

Rent received

Sundry expenses

Plant & machinery

Furniture
	Sh 

567,000

1,680,000

       1,400

      87,000

    272,400

    140,000

     10,000

    30,000

   20,000

  642,000

    40,000

   680,000

    20,000

   800,000

   200,000

    12,000

1,000,000

   503,000






Prepare 

(i) Profit and loss for the year ended 31st  December 2011.

(ii) Balance sheet as at 31st December 2011.




(10mks)

(iii) WANYAMA TRADERS

(iv) 



PROFIT AND LOSS ACCOUNT

(v) 

 FOR THE PERIOD ENDED 31ST DECEMBER, SELLER

(vi) 
DR










Cr

	
sh
Bank loan interest                  1400(
Discount Allowed                  10,000(
Electricity                               30,000
Furniture repairs                     20,000(
Maintenance costs                   40,000(
Motor running exp                   20,000(
Sundry expenses                       12,000(
Net profit                                  708,600(
                                                  842,000
	                                      Ksh

Gross profit                   642,000(
Rent received                 200,000(
                                         842,000


(vii) 
WANYAMA TRADERS

(viii) 
BALANCE SHEET

(ix) 
AS AT 31ST DECEMBER, 2011.

	Fixed Assets           sh                        sh

Furniture                  503,000(
Plant & Machinery   100,000(
Premises                    800,000(
Motor vehicles          680,000(        2,983,000

Current Assets

Debtors                      140,000(
Stock                          87,000(          227,000(
Cash in hand                                      18,000(

                                                           3,228,000


	                             sh                    sh

Capital                1,680,000(
+Net profit          708,600      

                                                      2,388,600

Long term liabilities 

Current liabilities

Creditors                                       272,400(
Bank loan                                      567,000(
                                                       3,228.000


(x) 







(20x ½ =10mks)

1. 5a. a) Highlight five reasons why the government trains business people. 
    
       (10mks)

Ans a) Reasons why the govt trains business people.

(i) Expose them to modern/new/efficient developments/trends in managing/running/operating businesses.

(ii) Educate them on how to identify business opportunities.
(iii) Expose them to problems facing businesses/solutions to problems facing businesses.

(iv) Educate them on proper business ethics/accept examples of ethics.

(v) Educate them on how to (best) use available resources/maximize profits/minimize losses.

(vi) Inform them of available business opportunities in the country/other countries.

(vii)      Expose them to govt policies that affect business in the country.

5x2 = 10 mks No splitting
1. 5b. ) Describe five means of payment that a trader may use to settle business debts.                (10mks)

ans
a).Means of payment a trader uses to settle his debts
i).Cash-where a trader accepts or uses currency notes and coins for payment

ii).Bills of exchange –where a trader discounts or uses an acceptance bill of exchange to pay.

iii).Debit cards that allows traders to make payment without carrying money

iv).Money order-means of payment provided by the postal corporation on request.

v).Cheque –order to the bank to pay the person named the amount indicated in the cheque

vi).Postal order – means of payment sold by the postal corporation in fixed denominations.

vii).Credit transfer- means of paying a large group of people using a single cheque

viii).Standing order- An order by an account holder to his bank to pay a fixed sum of money to  a named person /institution until the order is revoked.



ix).Credit  cards that allow traders to make payments without carrying money   (Any 5×2=10mks)

6a. explain five functions of a warehousing to the producer. (10 mks).

–  Storage











· Preparing good for sale

· Stabilizes prices

· Protection of goods/security

-    Holds goods up until custom duty is paid on imported goods

b. explain any five current trends in communication in Kenya   today      (10 mks)                  

· Telephone bureau (bureaus)

· Mobile phones

· Email

· Internet

· Fax

· Move towards a paperless office

